
2309 SHURLOCK STREET
YANKTON, SD 57078-0713

PH. 866.748.7435 • FAX 605.665.0501

SHUR-CO® HELP LINE
CALL: 866.748.7435
www.SHURCO.com

STEP 2:  DISCONNECT EXISTING MOTOR WIRES

Sealed Durabuilt™ Motor Conversion Instructions

IMAGE 105

WARRANTY PATENTS
ORDER 

TERMS AND CONDITIONS

P/N 1133110 Rev. A

1133071 - CONVERSION KIT FOR ROCKER SWITCH 
Item	 Part #	 Description    
	 1. 	 1133057	 Sealed Durabuilt™ Motor
	 2.	 1124908 	 SMARTwire™ Socket x Blunt - 6 Ga. x 27'
	 4. 	 1702707 	 Ring Terminal - 6 Ga. x 1/4" Stud - Motor/Solenoid
	 5. 	 1704751 	 Harness Lock Pin - 1/4" x 7/8"
	 6. 	 1703231 	 Cable Tie - 8"
	 7. 	 1704378 	 Dielectric Connector Protector (not pictured)

MOTOR 
SHAFT

MOTOR
 EXTENSION

 CAP SCREW

 LOCK NUT

STEP 1: CLOSE TARP
  Close the tarp. Release tension in the cables, then disconnect
  the power.

STEP 3: REMOVE HARDWARE
  Unfasten and remove 
  the 1-3/4" cap screw and 
  5/16" lock nut from the 
  motor shaft and 
  motor extension. 

REMOVE WIRES FROM EXISTING MOTOR

IMAGE 101

11

1133112 - CONVERSION KIT FOR RECEIVER 
Item	 Part #	 Description    
	 1. 	 1133057	 Sealed Durabuilt™ Motor
	 3.	 1127574 	 SMARTwire™ Socket x Plug - 6 Ga. x 10'6"
	 5. 	 1704751 	 Harness Lock Pin - 1/4" x 7/8"
	 6. 	 1703231 	 Cable Tie - 8"
	 7. 	 1704378 	 Dielectric Connector Protector (not pictured)
	

22

33

44

55

55

66

WIRE CONNECTION MAY VARY IMAGE 102

IMAGE 103

STEP 4: UNFASTEN EXISTING MOTOR FROM ARM
 Remove the existing motor from the pivot arm. 

EXISTING
MOTOR

REMOVE HARDWARE
AND MOTOR 

SCREWS

LOCK 
WASHERS

IMAGE 104

STEP 5: FASTEN NEW MOTOR TO ARM
 a) Slide the shaft of motor (1) into the pivot arm bracket.
 b) Fasten the 1-3/4" cap screw and 5/16" lock nut to the
     motor shaft and motor extension.  

11CAP 
SCREW

 LOCK NUT

MOTOR 
SHAFT



2309 SHURLOCK STREET
YANKTON, SD 57078-0713

PH. 866.748.7435 • FAX 605.665.0501

SHUR-CO® HELP LINE
CALL: 866.748.7435
www.SHURCO.com

FASTEN HARDWARE

SCREWS

LOCK 
WASHERS

IMAGE 106

11

STEP 6: SECURE MOTOR TO ARM BRACKET
  Secure the motor to the pivot arm bracket with the
  hardware removed in step 4. 

STEP 7: LOCATE ORIGINAL MOTOR WIRE CONNECTION
  Locate the original motor wire connection—such as at a
  solenoid or receiver. Disconnect the original motor wire. 

•      Option 2: Route Wire to Solenoid
  a) Cut SMARTwire at proper length to prepare for 
      solenoid connection. 
  b) Strip wire insulation back and crimp ring terminals (4)
      to wire ends and connect      
      red wire to post B and the
      black wire to post A.

RED WIRE BLACK WIRE 

•      Option 3: Wire Motor to Socket
 a) Route wire from the motor through the sealing boot to the
      mounted socket and loosen socket set screws. 
 b) Strip wire insulation back 1/2 inch, apply dielectric grease 
     to the brass contacts, and insert bare wire strands.
     Ensure there are no loose wire strands that could short circuit.
     Tighten the set screws to secure wires. 
 c) Secure the sealing boot onto the conductor socket.  

TIGHTEN 
SET SCREWS

RED WIRE 

BLACK 
WIRE 

APPLY DIELECTRIC GREASE
TO BRASS CONTACTS

STEP 8: CONNECT SMARTWIRE TO MOTOR  
  Apply dielectric grease (7) 
  to the SMARTwire connections 
  and secure connection 
  with lock pin (5).

STEP 9: CONNECT SMARTWIRE TO SYSTEM  
   Wiring configurations may vary depending on the existing
   system. Three common variations are shown below; 
   however, your system may differ. Refer to your system’s
   specific wiring layout if necessary.

BOOT

SOCKET 

•	 Option 1: Connect Wire to Receiver
  Apply dielectric grease (7) to the receiver and 
  SMARTwire connections and secure connection with
  lock pin (5).

STEP 10: ADJUST RATCHET TENSION
  a) Tighten the ratchets to remove slack in the tarp.
  b) Observe the position of the 
      channels on the front and
      rear spools as the initial 
      tarp tension is reached.

NOTE CHANNEL
 LOCATION TIGHTEN 

RATCHET

IMAGE 111

WARNINGWARNING
Keep hands, hair, and loose clothing away from the 
roll spool when the cable is wrapping. Avoid over-or 
under-ratcheting, as improper tension can increase 
the risk of entanglement. Do not adjust ratchets 
during operation of the tarping system.

!

STEP 11: FINALIZE TENSION ADJUSTMENT
  a) Tighten the ratchets to rotate both channels 90° from
      their initial position.
  b) Recheck the channels' 
      positions and re-tighten 
      the ratchets as needed 
      to achieve a full 90° rotation.
  c) Reconnect power. 
      Open and close the tarp
      at least 5 or 6 times to
      verify consistent tension. IMAGE 112

90° ROTATION

NOTICE: Ensure the ratchet is in the locked position to 
hold tension. Do not release tension to operate the system. 

SOLENOID

44 44

IMAGE 107

IMAGE 108

IMAGE 109

IMAGE 110

11

55
APPLY DIELECTRIC GREASE

TO CONNECTION

55

Durabuilt™ SMARTwire™ Conversion Instructions P/N 1133110 Rev. A


